2 st

1 st

2 st

8 st

1 st

621-009 Gavel med cylinder

Varmforzinkat
75 kg

621-004 Mittbage helt kopplad

Varmforzinkat
40 kg

12329 FZB Stal ror 50x30x2

Varmforzinkat L=6000
2,4 kg/m

621-201 Stal ror 60x60x2

Varmforzinkat L=6000 / L=8000

3,7 kg/m

621-315 Skruv sats

2 st M8 Lasmutter

2 st M8 Bricka

28 st M10 Lasmutter
56 st M10 Bricka

2 st Forankringsoglor
4 st Repklammer

40

4 st M8x20

2 st M8x75

4 st M10x50

24 st M10x75

2 st Strypventiler

www.fliptop.se
info@fliptop.se



